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INSTRUCTIONS

L. This booklet consists of 20 pages including this
front page. Verify the page number of the
Question Booklet on each page. If there is any
discrepancy, bring it 1o the notice of the
Invigilator. This Booklet contains 60 questions
in 2 languages: Bengali and Nepali and 25
Guestions in English only.

2. Answers will have to be given in the Special
Answer Sheet (OMR Answer Sheets) supplied
for the purpose, which consists of (wo pages. Do
not tear or separate any leaf of the OMR
Answer Sheet.

3. Before you proceed to mark on the Answer Sheet
in response to various items in the Question
Booklet, you have to fill in some particulars in
the OMR Shecet. Youmustalso write the Question
Booklet No. on the Attendance Sheet. Do not
fold the Answer Sheet as this will result in
error in your marks.

4. All questions have four probable answers (A),
(B), (C) and (D). Find out which of the four
answers appears (o you to be correct or the best.
Now darken the circle corresponding to the letter
of the selected answer in the OMR Answer Sheet
with Black Ball Point Pen as per instructions
sent along with the Admit Card.

5. If more than one circle is encoded for a particular

answer, it will be treated as a wrong answer.

Vath of the allotted marks (i.e. 1.25) will be

deducted for each wrong answer,

7. There are blank pages at the end of this booklet
for Rough Work.

8. The OMR Answer Sheet (both pages intact)
should be handed over to the Invigilator before
leaving the Examination Hall. Candidates are
then permitted to leave the hall with the
Question Booklet. The Special Answer Sheet

(OMR) is the property of the West Bengal
Police Recruitment Board and must be
returned to the Invigilator.
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Hwtaa AYNY % Arcels-aa i A 201
offpmtdlial Adcels Srma gercaba Af el
ara Farferea oae Goirast (I SrA gy A
S AARBrRA CEAAEE AGTA DA |
oo woff =t 4 s, A ¢ @EAface a9z
safb 2l wyeia Lty |

G@a aeiig OMR Teazcas s zoa a7 4
o1 i | Sameam op1 gfora fegeam W
fafoen @acam a1l |

Gaae g 2ioaa Baa vl e aara e Ax s i
fiff® fag faaad OMR A\ v 271 a4 @ are
oA | wnicherens 46-av MR 21a 20 gD
Fiferam vl e 204 | T sy S
FAAA A, FA QS WA TEarta JFCE
T elle THTAA G TS A |

Afefls etz sraf Her Ten crem wiE, 99—
(A), (B), (C), 932 (D) | @7 ey @b wiofara
iy Tea 4@ Wtm 4rd, OMR Taaeirg o2 il
stafbre sa sifea I@-2tws (oA qrua
OMR T@a4y «ar wprefat #0s ova fnde
oAl WA ACA AT |

9af g Ter fora weifie erears i
FqrE 1% Taafb v arE frafee @

effeld =1 Taraa wn - bodfioe ra (mdie 0.25)
(@ e ZTA

PATEA (¥ AT BIGTA Gol) 21 A=A 10

AR 4T A Feww TN T oEd qio oo
(T T ) ATFFCRA TR QTS
Tl (WA | TEaetal s o oiag ARrwdice
eNY|9fd AT AT TJi9l Fata Sule (reat
T OMR Teaoafl oAfeowax +ifert fgdrars
@TE TifE, oAt bt wamlE TgRYTTEA
freb ot (wra |
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1. In the following question,

some parts in 3, sz wfaere 2ot wiem 249 Gwh
iom:-::: ::.i;:;l:i&n_jumbled up. You arerequired | oofpef urm 2ET g | anem o e o4
es¢ parts, which L o
Q,Rand S to prodzce thew co::re:tr ie‘:reﬂec: Ks a7da @y ca Arana gre ﬂlmmﬂﬂf"[‘f ¥
 Inlife, /() some rules are, I i fofezs of8 Acanafa T @z, @ AegE AR
(R) they seem almosy instinctive, / (S) learnt so “nem 3, Y = —
early that, H-vY i ¥ o B E I T
(A) RPSQ 1 2 38 4 5 @& 7 8 9
(B) RSPQ (A) 345179842
(C) QSPR (B) 671328594
(D) QPSR (C) 963258714
(D) 157392846
frafafaa 2fu avfzean g wgn 9o
mgmmwnmlmﬂﬁ;m
TE=H YeE At et 97 e fouam 3, T
AGY Y] T v g HeATEEeIE T 9, I
AT ARy T, T W A —
H VvV A R O B E 1 U
] i 000 8 9
(A) 345179842
(B) 671328594
(C) 963258714
(D) 157392846
4. @yl st fetafes am arafrs
wafzT ¢
. 2. In the following question, some parts in (A) i
italics have been jumbled up. You are required (B) CEazras
to rearrange these parts, which are labeled P, (C) w2y
Q, R and S to produce the correct sentence, (D) fozra
Today, / (P) in the country,/ (Q) offers the best :
connectivity, both, / (R) Kerala, among all states, | mﬁ,mmmm
(S) in terms of telecom and data analysis. ﬂﬂf&ﬂ:;7 ;
) o e B
(B) RPQS (B) 3Ty
(C) SPQR (C) wemmg
(D) SQPR (D) famm
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W AR G | R S & WA 3 WRA P YR
26T SCAT61 34 163PIMTZI 1654 ‘7§%"3f7u

(&) 4

m ey aﬁ | 3R S '@r S 3 s 9 S
Pt =
2637564796134 16391 569231654321967163
(A)
(B
(Cy
(D)

W N b

6. 10]8-2¥F mseiwe e =yt or s,
(A} 40
(B) 20
(C) 50
(D) 30
1018 = Fpf=fas == Seren I T
==z
(A) 40
B) 20
(C) 50
(D) 30

7. Anmy part of the following sentence may
have error. Find out which part of the sentence
has an ervor or Bo error.

Ram is / semior %0 / Shyam in school.
{Aj Shyam in school.

(B) Ramis

{Cj No error

(D) senior ©

e
& ‘SAVOURY' wwfba sps
Vowel-2% wieaed o Teaie afomms -
o e W e =REl Consonant-ga mmm
Treafer R O o = e, T hy
Fiaf e (3 O TS e T Wiy
(W ST W, Gﬁﬁ%c&lﬁ%ﬂmﬁm
T wrear
A Q
B) U
O X
D) R

L

T SAVOURY' ¥ Wl SRR MY W
A Uu'ejﬂmmaﬁ mmmm
W3 TE WF Consonant T S TR sifqss)
o W T W, T TR T e Wy
e T T A 2 ST T v, g
e 2 7P @ TON WA TA?

A Q

By U

) X

(D) R

9. TIEETTS (VF NCHA @R Fwva Besifar
(A) TR
(B) ==
\O) RETE
(D) w1

FEFEHAR I TR T& FIA1E B2
(A) T
(B) ¥
(C) HaTat
(D) afy
10. Which of the given choices will be the
proper word to fill the blank?
The salt spray has gradually
the bridge.
{A) demolished
(B) spoilt
(C) eroded
(D) ravaged
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11. 3 5174324 eanf® 3 721 v Rere

GFB A T, o7 « A FroW 4 Wil ww?
(A) 3

(B) 1
€) 4
) 2

AR 5174324 T 3 3R ot 9 Wi = o,
T« T YRR S oiE w5 Te?
(A) 3

(B) 1
(€) 4
(D) 2

_ 1.2. In the following question, some parts in
italics have been jumbled up. You are required
to rearrange these parts, which are labeled P,
Q, R and S to produce the correct sentence.

The concept of death, / (P) that it has been
reduced, | (Q) as an inevitability, | (R) is so
ancient, / (S) to a cliché.

(A) SRPQ
(B) SPRQ
(C) QPRS
(D) QRPS

13 (\[6_2—5_)( 14 X 49 ):?
L1 T 25 196
(A) 40
(B) 20
(C) 50
(D) 30

[Jsz—sx 14 44 J "
11" \25 196

(A) 40

(B) 20

(©) 50

(D) 30
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143 ¢ =440 = ), W= S AR
=2, O 21 4 36— 12 X 8 + 447 AH FS?
(A) 40
(B) 20
(©) 50
(D) 30
> = 47, =K, = =
oo Ny W, 21 + 36— 12 X 8 + 4 T WA HA
Te?
(A) 40
(B) 20
(C) 50
(D) 30

15, SRR S R PR S S
(A) BR
(B) =M
(C) =efore
(D) =%
EZ,
(A)  &Htar
(B) #F
(C) &4
(D) %

16. 95 SE 25fS WM R IR HR
TS ot 2
(A) &{
(B) WS
(C) o
(D) FFIRR

e T W AEea s 3
wrata T

(A) vd
(B) tefHifa
(C) faum-=uaen

(D) =t
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17. 5f sAreet it 8 0% arer vt 30 A <=l
STV ST T 1475 #irort fr 6 veG! e FACE FO
it &% wariaraf e 2w strama e

(A) 40
(B) 20
(C) 50
(D) 30

5 9 U fEAm 8 Hue W R A,
30 e wsw S wifer T wEs )| @ ST
4 9 T Je e T 6 v wm = 9, Hia fe
afer T TFe?

(A) 40

(B) 20

(C) 50

(D) 30

18. In the following question, some parts in
italics have been jumbled up. You are required
to rearrange these parts, which are labeled P,
Q, R and S to produce the correct sentence.

Keshab, / (P)left in an aeroplane, / (Q) after
reading a sailing magazine, | (R) had decided, |
(S) to build his own boat nine vears earlier.

(A) RQPS
(B) PRQS
(C) PSRQ
(D) RSQP

19. @3l 2 @i a5 Fea %-uﬂ?wrﬁ?mé

% At od T3 | O GrETw 2eee o
(A) 40
(B) 20
(C) 50
(D) 30 |

T BT g T e S g 4 @
ToN TR 91, 39 femmem wfa gftea 3 v 92

(A) 40

(B) 20

© 50

(D) 30

20. Which of the given choices is synonym of
‘Cease’?
(A) Create
(B) Begin
(C) Dull
(D) Stop

21. Choose the correct meaning of the
underlined idiom from the given alternatives,

His promotion is on the cards,
(A) certain

(B) due

(C) probable

(D) evident

22. Tpa RIS Aas 2% F A
BBCBCDBCDEBCDEFBCDEFGBCDEF
(A) H
(B) B
(C) D
(D) G

Frufefad s TR Wad au & gie?
BBCBCDBCDEBCDEFBCDEFGBCDEF
(A) H
(B) B
€)' D
(D) G

23. @EFAE-8, 20229 Fxfie @ e
Ryerel Wew TEE e
(A) JrErE
(B) Tegemm
(C) T=g
(D) ==

-, 2022 7 e o=t o
fauraey frafam e foa?

(A) TSEUH

(B) UMW

(C) werTg

(D) fowr



24. 9%y Rrapeiz dite g Sitem B | o140
e R 2w o 30 @eem o e s

R, AW O[F PR FOGH A B v
(A) 100

(B) 25
(©) 200
(D) 50

R e Fardbarar 3w amewe (A
el zm@ 409 ﬁ%?ﬁ@w@, mm(sé)pg
HEFT (Apple) 31§ ®Y o IgPm dfeen 2fad
FTHI SEH (Apple) Toreh?

(A) 100
(B) 25
(©) 200
(D) 50

25. What is the opposite word of ‘Plausible’?
(A) Implausible

(B) Inplausible
(C) Displausible
(D) Believable

26. P 6 A Rqa 10 filbra sifism wfis |
B RS P a2 fitr e wefee | Q =l

B a2 6 b od wefee gae ¢ fmifd Q e

2 it Tera wkze o, fosre cam foaft R 9a
TR ABE 2

(A) Q. C A
(B) A,C,P
(©) A,B,Q
(D) B,C,P

P fag A fag <@ 10 foex wfvamm smafem
%1 B fag P fag 3f@ 2 fuex 3fgomn srafeed )
Qfag B fag faé fumEm safemsaficfag
Q fag= 2 fux I swEfen 3 WA, Foferfa
FAE da fag =2 g Tam wre?

A) QCA

(B) A,C,P

(© A,B,Q

(D) B,C..P

(7)

g R T e
S TRy
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27. Choose the correct meaning of the
underlined idiom from the given alternatives.

He is a little hard of hearing.
(A) deaf

(B) inaudible

(C) insensitive

(D) disinterested

28, Which of the given choices will be the
proper word to fill the blank?

The Chairman is ill and we’ll have 1o
the meeting for a day.

(A) put off
(B) put on
(C) put out
(D) put away

29. s Y i 23 fcaTsm - W s

42 T #ie 1 9951 40 G 48 e sfow 370,
sifefBa =ge sferan o pfi/asde

(A) 100

(B) 25

(C) 200

(D) 50

mﬁan@émﬁmmw%
YITeh! THRHT 913 TR 42 ffo fo =i g 1 "o

40 fire 48 TFem g0 7T | W Wi MEH 3WA
TR *fa fove fio wfd wwa #8172

(A) 100
(B) 25
(C) 200
(D) 50

30. Which of the given choices will be the
proper word to fill the blank?

Heis very good
(A) at

(B) on

(C) for

(D) about

making stories.
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31. T2 I sRefere w 9Be Frere
ST TH—

o
Sere

D S>C20:(dn P<C

(I O<P

(Ih S>P

(A) (D <R () 7 Srare® =)

(B) w3 (1) = Frere s

(O (D =7 (1D @ e 7 791
(D) sym& (1) =2 Freare w1

FiiEs vy s gy freed e

a0 .1 ]

g

F}E (D S>C=20; () P<C
= () O<P
(I S>P
(A) (DI A T IF B
(B) W™ (1) TR fred 3% B
(© @ Jg=1 (1) F1 9 Frsed S 890
(D) &rE (1) 7wk T 3 B

32, AeERe W e T sfeum w3fes ¢
(A) THER
(B) TeEaorm
(C) T2
(D) ===

Frafoiiaa F7=ie ao9m dRs SEaEen
T 87

(A) TR

(B) ITORY

(C) TERE

(D) faEr

33. Which of the given choices will be the
proper word to fill the blank?
These medicines are
cold.
(A) effective
(B) proper
(C) capable
(D) real

for curing

(8)

34, Npa crem 5iEl Aewa WY BB corea
gl uRea v s, @3 o’ 3R AR wg
o2 S efa #%|

(A) 96
(B) 72
(C) 28
(D) 82

et fegue W G ael dvae T T
Ty suTiE | I8a = T Al wfe 3 9w
T fofy TR

(A) 96

(B) 72

(C) 28

(D) 82

35. 3T == nfERe o s rFe e
(A) &
(B) WS
(©) Reray
(D) TrafRst

T (Euro) W= FraferfEa & dn wafa 2
(A) b

(B) effa

(C) Taar-—=mawm

(D) {rae




9

36. (W G Frfivoe 72 ¥ s gwea il
% (BBA 6% ot | 43 Brdtsta L wom cofp affom
fatreas stets & 1 215 Gl csfreza svestst 60 2, rAwEy
i (il BoufA tay o5 (rafera

(A) 100
(By 25
(C) 200
(D) 50

| 1 U3 Fraterren, grsen medf o vEwER

T A WEH 60% arih ) =H Frtarm s
| g o
5 “frz A% 33y Forat jaafer sree iz et o0 fordh
VA, 5T et e e iz ap

(Ay 100

(B) 25

(Cy 200

(D) 50

37. 43T TNTGA B4 4B A7 YA 5104 A9
6 432 9 A%(AA AR HAfAAENA TS e o

¥y

By 1:3

(C) S41 TAe(

(D) 3:2

T3 THHH AT PR 2T 6 a9 vd
O T AT GfHTOE Sqar #Ha 82
(A) 2:3
() 1:3
(C) a2z Al
(D) 3:2

38. Any part of the following sentence may
have error. Find out which part of the sentence
has an error or no error.

The captain along with his team / are
practicing very hard / for the forthcoming match.

(A) for the forthcoming match.

(B) The captain along with his team

(C) No error

(D) are practicing very hard

A R S ———e R T TR R B T —— T
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9. s afl A ofrsa Aeaya Hfae (rem wIE |
vt A Feva ifrafore A BAA Y
4,6, 10,16,24,7
(A) 28
(B) 40
(C) 30
(D) 34

ﬂmmwmsm
Frfertaa ggemeTs g0 T4 T

4,6,10,16,24,?

(A) 28

(B) 40

(Cy 30

(D) 34

40. forafafars cam are S amera R sasard
J7an v
(A) Az«
(B) TEaAm™
(C) W%
(D) fazrz

‘ awmwmmmw
ZE A
(A) TSR
(B) IO
(C) wemg
(D) famr

[Please Turn Over)




Comas FWEL AN

A, WP A8 IR wow S e
JOW PH AR QR TR ST WS N PR
W B Swg pu S SUs Te SR
R NN P U OF wne OO0 wuew O
R

WA
R
.-,\t_‘*\
)

TS T TR =y TR W
VT T § S S0 om0 T W
¥ WA I IR TRTR W
"@N"@w SF W TR W RN TEE
T R

A =

B &8

O

D) 34

LL4 2

L. Cheese the correct meaning of the
underiincd wiom from the given alternatives,
AR 3 party., he s ainavs am high spinits.
(A) dreaX
{B} milanve
O wmcontroliahie

L5 By TSERE S SR TER I

A) Y
B) ¥ T
O =S
D) FTET =TS

(A) TR TN % (Mangrove Tree)
B TR TN TR R RS I
{Tropecal Evergroen Tree)
i) =T 3§ Mountsnous Tree)
Dy TR 38 (Decadueous Tree)

§

1o

oy \” ‘M\ R Y e!lm\ \'!}lh\\\ m
Whire, White' WR ‘Rad', Red’ 1w Viokey',

Vioke W8 Rlack” B, I TREER W QMQ:
\.‘\\ \ okt
B Rad
O Biack
I Green

TR Groen’ W W Yellow', Yellow' g
W Whie', Whie' ® TR Red’, "Red' ®
N Viak, “Vickt' ® ¥R Rlack’ @ W,

(A) Vioket

B) Red

(O Biack

(D) Green

45, Any part of the following seatence may
have error, Find out which part of the sentence
has an erroer ar e errer.

Supposing if 71 rains / what shall we do?
(A)_what shall we do?

{B) Supposing if
L) No 2rmor
D) 1S

46, T WR 430 TILTRE43% TR WP
81 5 g
A

B) 1

O 4
M,

430 TR 43% N i ) Suwe srew
SSRSCEL GRS e oo
{A) 3
B) 1
) 4
O 2

‘a

b




g S L U S T
T TR T m “m R A
3 5 ¥
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47. Choose the correctly spelt word,
(A) Boquett
(B) Bouguete
(C) Bouquette
(D) Bouquet

48. uﬂmwm BOARD %# 53169 932 NEAR
%1 24161 OR Herats NODE ez
(A) 2934

(B) 2394
(C) 2694
(D) 2894

T T sg3am BOARD ¢ 53169
mﬂﬁNEARFﬂéM}éﬁf@Esi?ﬂﬁm
NODE ¥ %9f Sfg=s?

(A) 2934
(B) 2394
(C) 2694

(D) 2894

49. Choose the correct meaning of the
underlined idiom from the given alternatives,

We should guard against our green-eyed
friends.

(A) handsome
(B) poor

(C) enthusiastic
(D) jealous

50. (X T RS YOI A s few 2
(A) SIZBMIAR
(B) AT
(C) stisa
(D) Ml

FaE et WRae = R ufag fodr?
(A) HAEHAIER

(B) g

(C) T

(D) ¥R

Const(FWE)-2020

51. 1853 A 2 F@eie WINE coie A
Z1foe Zries ¢
(A) reg
(B) TEaum
(OREE
(D) ==

1853 WEW FAAME WA Weeh TEH
TeTegh Ty e fud?

(A) TR

(B) SHURH

(C) wEwT®

(D) faer

52, Apa arrda Afafers o B Hrare
@S Z—
3™ 2 Hal=J>K<L
Brare 2 () K<H
Ay L1
(A) (I) 93 (1) 96 ez 70|
(B) =g (1) = Frarg #f3s |
(€) (1) =a (1) @ Frares Jf5s |
(D) wy== (I1) 2 Brare #oa (

Trufafad wu=am g ggaer fFrerd e

F : H>I=1>K<L
fosd : (1) K<H
(I) L1
(A) () T D) 33 Frewd ik 51
(B) @%(I)Wﬁﬂﬁ@ﬁ'@i
(C) () 3fera (1) %A Wi T ek 311
(D) @& (1) =1 frs5d JF 5|
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53. wady ot fasfafes o e om wavieE
Biel] (AL ARG o1 DA ¢
(A) &
(B) WS
(€) fastaarag
(D) wHaifEd

e A9 Frwferfea w1 fawam dreEm
et e qeR qraE fgu?

(A) ud

(B) Iefifa

(C) faan-=awen

(D) @vanfes

54. ADER %0 (eire awafe vig srwafafas
el X sftewl aIes ATA, qr 2AEh s
VYN GPAFE LT 4] ACA P

(A) 3
(B) I
(C) 4
(D) 2

ADER ¥r&zare e 9r st stefqof yg
WIS W ST Heltas syeRed e wfe e e
af?

(A) 3

(B) 1

©) 4

(D) 2

55, Bifors wal @ 4oalz s sronfFe ¢
(A) T2y
(B) (&
(C) T
(D) e

sypifives Aut e end W weafam @2

(A) feg
(B) sy
(C) &
(D) M1

56, Sva Ganaia ~7ad buafd e
foumirafd ¢

ok

g saad) fou ¢

KPR
I 2 3 4
(A) 3

(B) 1

(€) 4
D) 2

e feguz fam aferamm yoad! fay # g3 2
ferx aferem :

KRB

vy wad! fay

Rk K

l 2 3 4
(A) 3
(B) 1
(€) 4
(D) 2

§7. Choose the correctly spelt word,
(A) Comittee
(B) Commitice
(C) Commite
(D) Commitee
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58. 222% sy, (13) Const(VWE).2020
e '“ b - (o 2 g
Ay o w7
B udghf, (A AT
C) Botzmyay f:f:, Wﬁcefﬁ
(D) Drapmfes, ([;} (A A s
{ ) E’“ﬂl;ﬁ
-m“‘ ﬁ ; ;.I,I E ) )
mAafyR fagy; 5 mehmtﬁn A ares frdve %ol A s
(Ay ' (A) Trim:n
(By a{zﬁ'ﬁ (B Q‘ AT
(Cy (C) wffafrmm
-y ; ~ 2Ty ) )
(Dy REiCite) Ueiie

59. FrAme W ararm w2fs ara | wgry 54555 uy
mmxﬁzwmm:%ms&ﬁw
m*wzﬁ%w%wﬁﬁﬁﬁfwm

(A} 40
(By 20
(Cy 50
(D 30

farmae W83 w3 UZ2 97 | avy 54 fFefgo
%1 70 1 2 farrem Pq w3, = AuA | A
36 oo % 7 77 w3, wpryy 9fa averm =m an

(A) 40
(By 20
(Cy 50
(Dy 30

61, 180 Bfiyzre ofesmn ware 5iaz <o
CATR 2 %! cafmoAay Z s A7 AN wa of ran e
TR, O R WA (i | 9G] St e AN
5z ez adhm wz @

(A) 40
(B) 20
(Cj 50
(D) 30

180 %0 fae % 7f1 gt 71 =nfn, aydnem
ZEN AZN 3, THATE VAN | 9 w5

w7 F1 A FA fFo o ufa 7w 717
(A) 40
(By 20
(C) 50
(Dy 30
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62. ‘Sunny Days' (@ e GFabioa
f
(A) A ISP
(B) @foe1 (i1
(C) v fway
(D) wez= Pie caifd

grae ufgg frket Sitom e ‘Sunny
Days’ @7

(A) G e

(B) =fus1 |

(C) e fagay

(D) W= fae oA

63. /00169 x =13 T, x4 W F %
(A) 10000
(B) 100
(C) 100000
(D) 1000

JO0169 x =13 wall 1, x H 7H =f &2
(A) 10000

(B) 100

(C) 100000

(D) 1000

64. qfb YT T 1365 | AT FGTCS (=B
Heiba AR Sif FAE ©I5TR 55 9IRS 15
QT (RICH! I F© 2

(A) 100

(B) 25

(C) 200

(D) 50

T3 HETH I 1365 B | Je HSAETE T
TR W TR AT, ST 55 TE I 15 §S )
I @ Hid A7

(A) 100

(B) 25

(C) 200

(D) 50

65. Moz cow qenfa AT AH CwIGN
A=t w8 e
(A) qlerglH
(B) a2
(C) sy
(D) Rz

fFrpfefa grafé TogeR o aeEy @
12
(A) T
(B) JaTIHR
(C) Hewg
(D) fergr

66. caa ATE) Fafe® 2o Argae ey A5 @i
(A) qrergle
(B) T@a=rl
(C) ZraTg
(D) fazra

FAAIME TIETE WIS TR AREUS ToHH!
Tfad wo 7

(A) TSRYH

(B) TR

(C) WRIE

(D) fe@R

67. Choose the correctly spelt word.
(A) Scisor
(B) Scissors
(C) Sisors
(D) Scisorrs




68. ‘EERY TRy =
U & 25w FREEw
(A) B qeppw v ¢
(B) #qwwig gz
(C) &3 (o

(D) 3R wigwm

Tﬁﬂm'ﬁmmﬁmﬁq)
A) HIEHE 9YgeT 79 .
(B) s i

(C) =3 Tirgarst

(D) FfF sdmfes

69. RS wfee AR A 9y
(A) HNO,
(B) H,S0,
(C) C¢H;OH
(D) HC

“fes ufag = s S5 F 82
(A) HNO;

(B) H,SO,

(C) C,H:OH

(D) HCI

70, I SE TARE WEE (7 ZW (AF S
TR W ST S, (A RS W A
w3 ez e .

(A) ATeE
(B) T@agrm
(C) =R
(D) Rz

Tera Wil SR AHE RFAR e
A FH AR fafatad 7 TsaH Safed 97?7

(A) TSEIH

(B) TACIRH

(C) weIuE

(D) faer

(15)
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71. Which of the given choices will be the
proper word to fill the blank?

He told me that he

movie.
(A) had finished

(B) is finished
(C) mot finished
(D) was finished

watching the

72. What is the opposite word of ‘Demolish’?

(A) Repeat
(B) Shift
(C) Hide
(D) Build

73, Frow 24 7t Mo Fara 21, 36 € 66

g3l fRereica fastey =211
(A) 214434
(B) 213444
(C) 231444
(D) 214344

21, 36 31 66 G W TE] IIF &Y B2

(A) 214434
(B) 213444
(C) 231444
(D) 214344
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74. ‘Alema ey’ e e 2R Y
{4) ==
(B) zZevifeg
(C) o mnz
(D) 27a =g

“sieTR srar it waent fatAe?
(A) W9rF

(B) werarfes

(C) ¥eram ae

(D) &7 9%

75. 21 B © AR 3 AEF Wl 51T 38 27 @A
1 e 1@ It 5 2% A oG A8 20 TR e |
ZTEE & T O B 7

{A) 40
(B) 20
(C) 50
(D) 30

3 5 afe T ST, TR AT S I
27 = fepdy 217 5 = st TEvE 3 A % SHED AT
20 = ferdl | w3 1 FA9T 3¢ Hia T4 A2

(A) 40

(B) 20

(C) 50

(D) 30

76. Any part of the following sentence may
have error. Find out which part of the sentence
has an error or Do error.

It was him / who came running / into the
classroom.

(A) into the classroom.

(B) 1t was him

(C) Noerror

(D) who came running

77, fagfefie wiwnaba x O & aAray

4x IKZ
:7]"5;” 4x
(A) 3
(B) 1
(©) 4
(Dy 2

fagferfaa AdiEwomI, x #1 TEE F Ade?
4x__162
7'}?{57“ 4x

(A) 3

(B) 1

(C) 4

(D) 2

78. What is the opposite word of ‘Frailty’?
(A) Vehemence
(B) Energy
(C) Strength
(D) Intensity

79. e @w e Rum ofaam Ry
(A) 4qrergiH
(B) Tazam

(C) TR
(D) faza

Frafefas $=nfé awam faum ofteg 8372
(A) TeRGH

(B) ITUEH

(C) werag

(D) faer




0. 100 9acuffaftrg we wafifrfitr on
(A) 10000 ?
(B) 100
(C) 100000
(D) 1000

100 Wiz wfy wafufefie g
(A) 10000 '
(B) 100

(€) 100000

(D) 1000

81, o i aba e grafboe Phae
(eIl t
(A) Anfa ot el
(B) A
(C) GrogA
(D) faarne wifaw
! )
(A) Hfta w9
(B) wfde
(C) w28
(D) frae wifes

Const(FWE ')-2020

82, which of the given choices is synonym of
‘Pefer’?
(a) Differ
(B) Indifferent
(C) Postpone
(D) Defy
83. IIWQWWWWEWW
33waem¢3w\mmmsmwmﬁ
@Wﬂﬁmmmmmmmmammw,w
uﬂ%ﬁmwmmﬁmmmcm 1 2%
s o | B oG A e AeA?
(A) 40
(B) 20
(C) 50
(D) 30
(| e Fe 2o AT 3 33 A

qﬁmﬁmmwnﬁﬂa‘wmﬁﬁw
I ZEH m‘zﬂ‘: iy wfae T A, A
mm-mwmm—mmmm
v | o wer shaa 3 o A7

(A) 40

(B) 20

(C) 50

(D) 30
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84, gafb ffarg 120 v wpw 1 200 WA ATWE
wAA G W 150 wa vy wrarg oo fATw @,
WA WY wrary wEw v (WY Tt

tA} 40
(B) 20
() 50
(Dy 30

UIA w20 W e wife w200 w9
TETEEE Fnfn wen g1 afy 150 wen e wEn
AT 73, v ey safereeend arw A
wfe=ay

(A} 40

By 20

{C) 50

(D} 30

88, ‘Bull and Bear % weaef frwfifey 80y
s yrm ey

(A) =

(B) menTE
(C) Rsrearay
(D) Terarie®

‘Bull and Bear' W& i Fufafum & on
weafam 97

(A) v

(B) shfa

Aty e e R A




